
÷ 89 œ jœ jœ œ jœ ‰ jœ Œ jœ rœ rœ jœ jœ .œ œ jœ jœ œ œ ‰ œ Œ jœ œ œ œ œ .œ

÷ 46 ˙ œ jœ jœ œ œ œ jœ jœ jœ jœ jœ jœ ˙ ˙ œ œ œ œ œ œ œ œ œ œ œ œ ˙

÷ 43 jœ jœ jœ jœ jœ jœ œ jœ jœ jœ jœ œ œ œ œ œ œ œ œ œ œ œ

÷ 86 œ œ œ œ Œ jœ œ jœ œ œ œ œ œ

÷ c .œ jœ œ œ œ œ œ ‰ œ œ œ jœ œ jœ

÷ 23 œ œ Ó œ œ œ ˙ ˙ œ œ œ œ

÷ 45 œ jœ ‰ .œ jœ œ œ œ œ œ œ .œ œ œ œ œ Œ

MHIS 135 _____________________________
Name

Competency #6
Goal: 9 of 10

Time limit: None

Renotate each of the following two-measure passages to reflect the meter more clearly and to represent
the correct use of beams, dots, ties, and rests.

Provide the appropriate time signature for the following examples.
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